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QUESTION 1

The manifest file of an OSGi application project contains the following headers: 

Application-Content: BundleA;version=1.0.0,BundleB;version=1.0.0 

Use-Bundle: BundleC;version=1.0.0 

Which statement is true about the bundle content ofthis OSGi application? 

A. BundleA,BundleBandBundleCare directly contained in the application. 

B. BundleA,BundleBandBundleCare references to bundles that are hosted in an OSGibundle repository. 

C. BundleAandBundleBare directly contained in the application whileBundleCis areference to a bundle that is hosted
inan OSGi bundle repository. 

D. BundleCis directly contained in the application whileBundleAandBundleBarereferences to bundles that are hosted
inan OSGi bundle repository. 

Correct Answer: C 

 

QUESTION 2

A developer would like to create a generic endpoint implementation to handle XML-based Web service and use it to
host multiple endpoints. 

Which of the following annotations would BEST be used to support that Service Implementation Bean? 

A. @Web Method 

B. @Web Service 

C. @Service Mode 

D. @WebServiceProvider 

Correct Answer: D 

 

QUESTION 3

A developer has a Web service-enabled EnterpriseJavaBean Java archive (JAR) module within an EAR file. 

Which of the following command line tools will add one or more router modules to the EAR file? 

A. Wsadmin 

B. Wsdeploy 

C. Ejbdeploy 
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D. Endptenabler 

Correct Answer: D 

 

QUESTION 4

When binding an object to JNDI, it can be relative to which of the following context roots? 

A. Application root 

B. Server root 

C. J2EE module root 

D. Cell persistent root 

E. Node persistent root 

Correct Answer: BDE 

 

QUESTION 5

According to WS-I Basic Profile (BP), which of the following encodings should be used to ensure interoperability? 

A. rpc/literal 

B. rpc/encoded 

C. doc/literal 

D. doc/encoded 

Correct Answer: AC 
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